Full stop, question mark or exclamation mark?

Write out the following sentences putting in the missing full
stops, question marks or exclamation marks.

15" man:

2" man:

15" man:

2" man:

15" man:

2" man:

15" man:

2" man:

15" man:

2" man:

15" man:

2" man:

15" man:

2" man:

Why are you wearing that funny hat
What's that you say

I said, why are you wearing that funny hat
I can't hear you

Of course you can't hear me with that silly hat
covering up your ears

Shall T take the hat off

Yes, I wish you would

There you are

Why did you have that funny hat on
Why are you shouting at me

You couldn't hear me wearing that hat
Well T can now so please stop shouting
You look much better without that hat

Really Didn't you like it



